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3 MinGEW GCC 4.8.1 32-bit Belease
EE ﬂ {globals) W
mEEE =F#% Bf Chapterl3_homework(1.cpp
#include<stdio.h>
l/l’ *kk
* Author: Lee
Time:2018/08/22
. L L 4 ~1 Tk Process exited with return
(;E::ntent . %gg;?iéﬂ.%z I’I_L Preszz any key to continue . . .
giit TRaFE N mE KT

135 7185 6 8 9 4
max = 1B8.min = 1

int a[16],max=-1,min=260;
for(int 1 = ©; 1 < 10; i++){
scanf("%d",&a[i]);

if(a[i]>max){
max = a[i];
}

if(a[i]<min){
min = a[i];
}

}

printf("max = %d,min = %d",max,min);

return ©;
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* MinGW ECC 4.8.1 32-bit Belease
]| & {glcbals) v
mEEE =5% | B Chapter05_homework(1.cpp | ChapterD3_homework(2.cpp
#include<stdio.h>
l/l’ * ¥
* Author: Lee
* Time:2018/08/22 S
Content : — 44 A5 1 L AR
THE ZZ4EFZH Sr R FH
*/
#define M 3
#define N 2
108 int main(){
int a[M][N],sum = 8;
//printf("M = %d,N = %d\n",M,N);
for(int 1 = 6; 1 < M; i++){
for(int j = ©; j < N; j++){
scanf("%d",&a[1][]]);
sum += a[i][3j];

sum = 21

Weo~lowumpbwM

}
}

printf("sum = %d",sum);

return ©;
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#include<stdio.h>
B int main(){
char c[18] = "hello";
printf("%s",c);
return @,;
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#include<stdio.h>
B int main(){
char c[1@];
scanf("%s",c);
return @,
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#include<stdio.h>
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B int main(){

char c[18] = "hello";

puts(c);
return ©;
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[] & g & & EEARE= SO0 @88 |« | 8| dib 8 || mincw ccc 4.8.1 32-bit Debug v
Eil ﬂ . {globals) W ¥}

mEEE =F#% Bf Chapterl3_homework(3.cpp

#include<stdio.h> i |
#include<string.h> hello
char* myStrcat(char* stri,char* str2){ o
int len = strlen(stril);
for(int i = ©;1i <= strlen(str2);i++){ i::gz:Sznz";zzdt:ii‘n:iﬁt::“_"":‘1‘_“" o
stri[len+i] = str2[i];
}

return stril;

main(){
char c[2][1686];

scanf("%s%s",c[@],c[1]);
printf("%s" ,myStrcat(:[E],:[l]));
return ©;
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